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. In each sentence, decide which of the four choices given will most suitably complete the sentence if
inserted at the place marked. Put your choices in the ANSWER SHEET. (15 points)

. They lost their way in the forest, and made matters worse was that night began to fall.
(A) that (B) it (C) what (D) which
[HXR]C :

[ER] XEH and BEH—NIHFNE . B4 FHEER was, FTEBOFERNZBEES B

FiENA, XBEAFHMH made WEIE, FEIMNGORE “FEFEHEE I/MHESE.

what= the thing which. #1: He looked puzzled and what surprised him most was that he even

didn’t know where he was. i HEBRHRTE, EEMAFENRMAERARNEL S EMLL.
my return, I learned that Professor Smith had been at the Museum and would not be

back for several hours.

(A) At (B) On (C) With (D) During

[¥=]B ,

[ERB] on XBRR “H-ooooe Bf”, #24TF at the time of, JFHEHESHZFARLFA. #l:

On entering the room he found his mother cooking.

On her arrival in Shanghai, she telephoned her mother.

. Anyone who has spent time with children is-aware of the difference in the way boys and girls re-

spond to situations.

(A) similar (B) alike (C) same (D) likely

[HR] A :

[_;"Iﬁ] similar BERTYE B 18, WA 3RiE, W: We have similar opinions, my opinions are simi-

lar to his. WITHAERPUMNEL, ROBRSMHEMHEL . C) same — M REBHEE, FIEEM

SE19 theo #: We have lived in the same house for 50 years.

. There is not much time left so Ill tell you about it !

(A) in detail (B) in brief (C) in short (D) in all

[#%]B

[E] inbrieffE “WEZ” BB, H2YTF in a shortened form, #: It’s a long letter, but in

brief, he says “No”. HFEMREK, FAEBMEFZ, B “F". A) in detail “FHE4HH#”: Don’t

worry, and I'll tell you all about it in detail. C) in short “&2Z, &XH—4AEF", H: Youcan’t

. 1 .



make me! I won’t do it! In short no! MATIEEMEH! REFE MR, EH-HF—F
fito D) inall 83, B3, HYTF together, -

5. In this factory , suggestions often have to wait for months before they are fully
(A) admitted (B) ackn(;wledged (C) absorbed (D) considered
[¥=R]1D )
(8] XNMERPRAED) AFAERE, & “EXXI B, BUFRFTESILINALHE
BREAZR", fBES suggestion /ESIREBAIEH : advance (put forward, make, offer) a sug-
gestion $R HH B . aceept (adopt) a suggestion, X (R4) B, A) admit #ER, B) ac-
knowledge AA], C) absorb IR, ¥IRFFA HEEM T BMEER,

6. There is a real possibility that these animals could be frightened, a sudden loud noise.
(A) being there (B) should there be (C) there was (D) there having
been
[F®]B

[ER] XR— RN ER f WBEESNBERSA, EFIBEFN: U there should be a
sudden loud noise, SH¥RBLMHE KM A, A shoud + RIE K were to + B EE. M. If I
were to come, I would bring my younger brother. TJ LAf813£ % Were I to come, I would bring my
younger brother.

7. By the year 2000, scientists probably a cure for cancer.
(A) will be discovering (B) are discovering (C) will have discovered (D) have discovered
[BFR]C .
[ER] WaRERTRNE, by ERRRER, BER “Bl-- RIE”, TUAAFEERR
BEAFE R SE AT A, #: By the end of last year, they had learned 3,000 words.

8. Jim isn't » but he did badly in the final exams last semester.
(A) gloomy (B) dull (C) awkward (D) tedious
[HE=®]B
[ER)] dull “BE, BEH". TERN “Jm FAE, BELERBERER, BEBREF". A)
gloomy “BABE”, D) tedious “Z Bk, #BRA”, C) awkward “FIHHA",

9. The boy slipped out of the room and headed for the swimming pool without his parents
(A) command (B) ‘conviction (C) consent (D) compromise
[BR]cC
[ %] consent “F&E”, UM, Governments should rule only with the consent of the governed. B
FFREERLIMEB ARZFEIE . Jean’s parents refused their consent to her marriage. A) com-
mand & “@4”; B) conviction “{§MR”; D) compromise “%th, HE”, WEFEFRE,

10. He had on the subject.

(A) a rather strong opinion ; (B) rather strong opinion
(C) rather the strong opinion : (D) the rather strong opinion
[BER] A

[ER] AT EEAsHaREN, EMNMEEMFRER—FN, —BHOANEE. REiF7—~
iR MR EA KD, KE. BROBAA-CEESA-LRAEA AR
B+ BEMA LA, M. the first two workmen; the two rather beautiful pictures; some
beautiful little red flowers; an expensive blue Chinese vase; a rather beautiful red Chinese woolen
carpet. RIFX—RNHBIE A).
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12.

134

14.

15.

16.

When Jane fell off the bike, the other children .
(A) were not able to help laughter (B) could not help but laughter

(C) could not help laughing (D) could not help to laughing
[¥R]C

[E58] =X 9 can not help doing sth 55 cannot help but do sth., RBi &N “BARE”, BEEN
“REAEESE", EBHML, BEEAR. When you are walking in the sun, you cannot help
but get wet through. ZE K T7E, AEATMEF. HI, cannot but + FFEE R
“TBAR”, “AHB”, W: I cannot but be moved by his tears, FRA H175 # &9 R 1H Br¥T3h .

It is better to die on one’s feet than

(A) living on ones knees (B) live on ones knees
(C) on ones knees (D) to live on one’s knees
[Z®]D

[ER] XEDNFITEHBAE, than EEFNHEZER RS, to die on one’s feet Ml to live on
one’sknees, BN: THBWEL, BRBEELE.

The most important of his speech was that we should all work wholeheartedly for the
people. -

(A) element (B) spot (C) sense (D) point

[#=®]1D

[ER] &5 “HENBREE—SARERINEZLLLENIARRSE . point “EA”, A)
element “JCE, BAB"; B) spot “H8"; C) sense “BE, BX",

This watch is to all the other watches on the market.
(A) superior (B) advantageous (C) super (D) beneficial
[¥E]A

[iE$] superior to “EFXFERTF -, - FEHF” WES, W: Computer intel [l is superior
in speed to any other computers, “ZERE M M EE F L HEHRER”, TR superior to
AHEA than fX#F to, LA BB more superior, AN EEXERER “HL--BHF” HEX. B)
advantageous to TR “Xt-HF”; C) super EHFHIE, FH “IFHT”; D) beneficial “&
K, BIF4AE”, . This book is highly beneficial to young people. “XZA H X 4EH AKH
wmaL” .

In a typhoon, winds a speed greater than 120 kilometers per hour.
(A) assume - (B) accomplish (C) attain (D) assemble
[¥®]C

[(ER] £&RP, NEEEXD T/ 120 BAE, attain X “XB”, H: attain one’s
object “ABIHM", A) assume “MBE, #HIE, EH”; B) accomplish “5EA”; D) assemble
“BE, KB

the English examination I would have gone to the concert last Sunday.
(A) In spite of (B) But for (C) Because of (D) As for
[ZER]B
[ER] XRAMAGERABRABIUEKMLA, YT If it had not been for the English ex-
amination, f1: But for his idleness, he would have been an admirable fellow. “# 7R & 4t &
th, fiARER—-DLANBBEN/MKT"s A) In spite of “RE”, #RikLH; C) Because of
“BAH"; D) As for “%£F”.
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18.

19

20.

21.

22,

23.

Mary my letter; otherwise she would have replied before now.
(A) has received (B) ought to have received
(C) couldnt have received ) (D) shouldnt have received
[ZFE]C : .

[ER] HARERIX L L EHNT AN BRE—ERRBIROME"; it xeEE RN

3 must have + 3% 437, #: It must have rained last night, for the ground is still wet,

to speak when the audience interrupted him.
(A) Hardly had he begun ' (B) No sooner had he begun
(C) Not until he began (D) Scarcely did he begin
[EFR]A :

[##%] hardly::-when=no sooner-*than = as soon as, AR NEHEFEE, C) I not
until J5 T M %% ; D) scarcely did he begin A 885 )5 &L H B9 when # B

Anna was reading a piece of science fiction, completely _ to the outside world.
(A) being lost (B) having lost (C) losing (D) lost
[#=R]D

[iE®E] be lost to sth. “Xf--TBRK”". B). C) BEREEHESAAT %, WA —4
F, ESEEESESFABEFEAERIE, FRbe, BHESEERA EE, ARATF, ®

- ANEEA SRR E .
The policemen went into action they heard the alarm.
(A) promptly (B) presently (C) quickly (D) directly
[#%®]D

[E®] kA RAE D) R#EF, MY T as soon as, HAREERBIFA, M: I came directly I got

your phone call.

The lost car of the Lees was found in the woods off the highway. i
(A) vanished (B) abandoned (C) scattered (D) rejected
[ZR]B

(] abandon “M(3F, #FF, #F", #0: abandon a ship (a plan, an idea, a hope), aban-
doned X B B £4riA, M EIFEHEE, B the lost car of the Lees, A) vanished “J 4",
BAEYShFE, FEEAEKL, C) scattered “48, BF", BB HE LN ATELIAETH,
D) rejected “FE4”, ‘ '

Dress warmly, youll catch cold.
(A) on the contrary (B) or rather (C) or else (D) in no way
[HFR]cC

[iERE] orelse, HBIAI A or, Y TF otherwise iR “H N, : AREIE”, . Let’s go now,
or we’ll be late again, A) on the contrary “5--#X”; B) or rather ¥} “E#MIH#”; D) in
no way “QRA", #%TF never, by no means, on no account, 243X i) HAES B N EH%,

Our research has focused on a drug which is so as to be able to change brain chemistry.
(A) powerful (B) influential (C) monstrous (D) vigorous
[BER]A

[HR] powerful #X4F effective “HHM", WAEN: RIEEHHTFR—FEY, ©
EREH, EEHBE R LEEH, B) influential “BEWAE, HHHH"; C) mon-
strous “AI14H, AIMHAI”; D) vigorous “BHE, BHEMN.

o 4 -



24.

23.

26.

Z7:

Bob was completely by the robber’s disguise.

(A) taken away (B) taken down (C) taken to (D) taken in
[Z=E]D : :

GER] take in “¥RIR”, —MA T H3IES, W: As soon as he paid the money, he realized
that he was taken in by the salesman. A) take away “&3E”; B) take down “i2F, #ER”; C)
take to “BK",

Difficulties and hardships have the best qualities of the young geologist.
‘(A) brought out (B) brought about  (C) brought forth (D) brought up
[¥R] A Hifr i

[#F%#] bring out “B/RH, 47, HlE”, IW: Mary is very quiet; try to bring her out at the
party. “Mary R X#, ESPRERBMEE". HaAFEN: XNFREHREREREH
bR P S R R, B) bring about “#3%K”; C) bring forth “74; FF#”; D) bring up
“BEE, |F

Our modern civilization must not be thought of as in a short period of time.
(A) being created ’ (B) to have been created

(C) having been created (D) to be created

[HF=E]C

[#%#] 7 think of /5 as BN, BE5IH— Aﬂlﬁﬂf&ﬁlﬁ%ﬂ@‘o 4] % 9 £ 1% Our modern

civilization f think of BI/ERIEZ %, H, EBERWSIM. XA, as having been created Bt

BHREEMRIE. “in a short period of time” BB create KB [EIRIBE, ‘EARIECLERT

B, Bl C).

Even if they are on sale, these refrigerators are equal in price to, if not more expensive than,
at the other store. i

(A) anyone (B) the others (C) that ' (D) the ones

[ZX]D

o [ER] BN IR EKERN HE, MEBH RS - KERKER, GREBRBREE

28

29-

30.

—HERM” . XEEHRRIFAHE, refrigerators BH ¥, Bfu A), C) AXt, the others &
BAIWARY EEBERF .

The bank manager asked his assistant if it was possible for him to the investment plan
within a week.

(A) work out (B) put out (C) make out i (D) set out
[BFEXR]A

[ERE] work out “HIiTH, BEH". B) put out “BK4T”; C) make out “FHHE, BHiA
H”; D) set out “¥EM, HE".

He knows little of mathematics, and - of chemistry.
(A) even more (B) still less (C) no less (D) still more
[HX®]B

DER] #3X: AKERE, HEEEBREDT ., still less RRBAUTE, MNATENFYH
#H—FBEE. A) even more “EZE”; C) noless BEANBEWHM, HYEFHEE; D) stll
more J2& still less B X X 3,

The students expected there more reviewing classes before the final exams.

(A) is (B) being (C) have been (D) to be



[#=R]D

[GEE] AN FESHT, $—, expected j5E IR there be IAERE R, BAWRE

BHEMBNIE, H expected HIEE, 5 expected JEHERMAE RN MIEIE, expect to doo

PUERERMEIENZEE T30 desire, demand, decline, decide, claim, choose, ask, ar-

range, apply, agree, afford, want, seek, refuse, promise, pretend, offer, manage, learn, hope

determine % , ; 7
I . Each of the passages below is followed by some questions. For each question four answers are

given. Read the passages carefully and choose the best answer to each of the questions. Put your

choice in the ANSWER SHEET. (30 points)
g Passage 1

A wise man once said that the only thing necessary for the triumph of evil is for good men to do
nothing. So, as a police officer, 1 have some urgent things to say to good people.

Day after day my men and I struggle to hold back a tidal wave of crime. Something has gone ter-
ribly wrong with our once — proud American way of life. It has happened in the area of values. A key
ingredient is disappearing, and I think I know what it is: accountability.

Accountability isn’ t hard to define. It means that every person is responsible for his or her actions
and liable for their consequences.

Of the many values that hold civilization together—honesty, kindness, and so on — accountability
may be the most important of all. Without it, there can be no respect, no trust, no law—and, ulti-
mately, no society. ; :

My job as a police officer is to impose accountability on people who refuse, or have never learned,
to impose it on themselves. But as every policeman knows, external controls on people’s behavior are
far less effective than internal restraints such as guilt, shame and embarrassment.

Fortunately, there are still communities—smaller towns, usually—where schools maintain disci-
pline and where parents hold up standards that proclaim: “In this family certain things are not tolerat-
ed—they simply are not done!” A

Yet more and more, especially in our larger cities and suburbs, these inner restraints are loosen-
ing. Your typical robber has none. He considers your property his property; he takes what he
wants, including your life if you enrage him.

The main cause of this break — down is a radical shift in attitudes. Thirty years ago, if a crime
was committed, society was considered the victim. Now, in a shocking reversal, it’s the criminal
who is considered victimized: by his underprivileged upbringing, by the school that didn’t teach him
to read, by the church that failed to reach him with moral guidance, by the parents who didn’t pro-
vide a stable home.

I don’ t believe it. Many others in equally disadvantaged circumstances choose not to engage in
criminal activities. If we free the criminal, even partly, from accountability, we become a society of
endless excuses where no one accepté responsibility for anything.

We in America ciesperatedly need more people who believe that the person who commits a crime is
the one responsible for it.

31. What the wise man said suggests that
(A) it’s unneccesary for good people to do anything in face of evil
(B) it’s certain that evil will prevail if good men do nothing about it
. 6 o



32.

39

34.

35"

> (A) stricter discipline should be maintained in schools and families

31.

82

33

34.

35

(C) it’s only natural for virtue to defeat evil

(D) it’s desirable for good men to keep away from evil

According to the author, if a person is found guilty of a crime,

(A) society is to be held responsible (B) modern civilization is responsible for it
(C) the criminal himself should bear the blame (D) the standards of living should be improved
Compared with those in small towns, people in large cities have >

(A) less self — discipline (B) better sense of discipline

(C) more mutual respect : (D) less effective government

The writer is sorry to have noticed that

(A) people in large cities tend to excuse criminals

(B) people in small towns still stick to old discipline and standards

(C) today’s society lacks sympathy for people in difficulty

(D) people in-disadvantaged circumstances are engaged in criminal activities

The key point of the passage is that :

(B) more good examples should be set for people to follow

(C) more restrictions should be imposed on people’s behavior

(D) more people should accept the value of accountability

[#XR]1B

[ER] F—TENEERE “MRFANBBLRAE, BERSIBERIT. “nothing to do”
BH “EHTE" R “LURE", MA) BH, EBEEN, FAXARRSGTH; C) &
H: BRUVRBUERE, RAFERE; D) BH: FANKRFRE, A), D) XAARENA
gﬂiﬂ'ﬂﬁﬁﬂgﬁﬁ*ﬂﬁo

[#F®]C

[ER] E&X A, BHAEEHE accountability B & X, “Xt--RAERE", WA EIRILMN
X EHCHITARR, ﬂlﬁ%ﬁ?’ﬂﬁﬁﬁﬁiﬁ FREA, MARMSZ. ﬁﬂhﬁﬁiEEf’ﬁ#Fﬁﬂt
M A . -

[HFR]A

[ER] XEF 6 Bt : EARTEAFREHAPEFENANBCSERERMTH=TRE,
BIBRE-AHENR “KEBHTAMNBRNBRHBAKR". A) TNEIXEFSZIFE, &
% Ao

[FX]1A

[(E®] B8ERMIEN: 30F8, —MARTER, XEZRMLS, MAESLARTNE,
HRLBEET: REERTREL. RESA) THEWSE. B) WEN: E/MRTEBHA
TR BFEEHERFE, MEEMRENELRN AR LFANEEME; C) 5%
XER; D) BH: £FFAHAEFHARESLLE, BEEEHAHERARX-ZUNEAR
WRETAMNMRESZRLE.

[#®]1D

(ER] SRXENPLERREEBRATESHANZIMHSAERE, BZREMEX
—MA. B) BH: MEIAMNMMIESHEER; A), C) EEIBREARACHLRSE
MERERN LEH, FFUAREEE,

Passage 2



The period of adolescence, i.e., the period between childhood and adulthood, may be long or
short , depending on social expectations and on society’s definition as to what constitutes matutity and
adulthood. In primitive societies adolescence is frequently a relatively short period of time, while in in-
dustrial societies with patterns of prolonged education coupled with laws against child labor, the period
of adolescence is much longer and may include most of the second decade of one’s life. Furthermore,
the length of the adolescent period and the definition of adulthood status may change in a given society
as social economic conditions change. Examples of this type of change are the disappearance of the
frontier in the later part of the nineteenth century in the United States, and more universally, the in-
dustrialization of an agricultural society

In modern society, ceremonies for adolescence have lost their formal recognition and symbolic sig-
nificance and there no longer is agreement as to what constitutes initiation ceremonies. Social ones
have been replaced by a sequence of steps that lead to increased recognition and social status. For ex-
ample, grade school graduation, high school graduation and college graduation constitute such a se-
quence, and while each step implies certain behavioral changes and social recognition, ' the significance
of each depends on the socio — economic status and the educational ambition of the individual. Cere-
monies for adolescence have also been replaced by legal definitions of status roles, rights, privileges
and responsibilities. It is during the nine years from the twelfth birthday to the twenty — first that the
protective and restrictive aspects of childhood and minor status are removed and adult privileges and re-
sponsibilities are granted. The twelve — year — old is no longer considered a child and has to pay full
fare for train, airplane, theater and movie tickets. Basically the individual at this age loses childhood
privileges without gaining significant adult rights. At the age of sixteen the adolescent is granted cer-
tain adult rights which increases his social status by providing him with more freedom and choices. He
now can obtain a driver’s license; he can leave public schools; and he can work without the restric-
tions of child labor laws. At the age of eighteen the law provides adult responsibities as well as rights;
the young man can now be a soldier, but he also can marry without parental permission. At the age of
twehty ~ one the individual obtains his full legal rights as an adult. He now ean vote, he can buy
liquor, he can enter into financial contracts, and he is entitled to run for public office. No additional
basic rights are acquired as a function of age after majority status has been attained. None of these le-
gal provisions determine at what point adulthood has been reached but they do point to the prolonged
period of adolescence.

:36. The period of adolescence is much longer in industrial societies because

(A) the definition of maturity has changed

(B) the industrialized society is more developed

(C) more education is provided and laws against child labor are made

(D) ceremonies for adolescence have lost their formal recognition and symbolic significance
37. Former social ceremonies that used to mark adolescence have give place to

(A) graduations from schools and colleges (B) social recognition
(C) socio — economic status (D) certain behavioral changes
38. No one can expect to fully enjoy the adulthood privileges until he is
(A) eleven years old (B) sixteen ye.ars old
(C) twenty — one years old (D) between twelve and twenty — one years old

39. Starting from 22,
.



(A) one will obtain more basic rights

(B) the older one becomes, the more basic rights he will have

(C) one won’t get more basic rights than when he is 21

(D) one will enjoy more rights granted by society
40. According to the passage, it is true that

(A) in the late 19th century in the United States the dividing line between adolescence and adult-

hood no longer existed

(B) no one can marry without the permission of his parents until the age of twenty — one

(C) one is considered to have reached adulthood when he has a driver’s license

(D) one is not {ree from the restrictions of child labor laws until he can join the army
36. [FE]C

[(FRB] AXFLRIEFEEFFENTRHIFIER, KERERN: EFPOMKURRET

BEHHE. A), D) FAREENEKNER, EMNWERLY: BEHNFRESEREDR

RESFELRATHENERSEFENHBIRE. B) XEFRED,

37. [BR]A

GEE) ZEAIELREE, &<3X% 2 B, % 3 4, For example, grade school graduation,

high school graduation and college graduation consitute such a sequence 5 A) HWiAH#fF, HE=M

FEXR, BRREELEE, REZHEFNARBBEAF X, give place to: “ibfiF, K- Br

RE"

38. [HE]C

[ER] BLHE, BHh: ATA21 ??Filﬁ EABRAMBRAENF, E5C) HF.
39. [#X]C

[ERE] BB\ XES 2 BEH “No additional basic rights are acquired as a function of age after ma-

jority status has been attained” M 21 ZIKBBANFG, & FHH 18R I5 448 54 hn 59 24 A

T
40. [ER] A

[E®] BE\XTES 1 B85 3. 4 4] “Furthermore, the length of the adolescent period::-19 it

LT ¥r, XREXMEAUNAZSHTFRABASEEANRAKENEL, 8iEA). B) 2HAX

EFE2BREERESA. C) MEL2EBEEAHE 4. 6. 70: BLEATURBBRHME, MR

AT 21 %, iIANEBELEHEARES. D) RE\EXE, 16 8, FLOEAULREFH

THRE, BESERI 185,

Passage 3

Most growing plants contain much more water than all other materials combined. C. R. Barnes
has suggested that it is as proper to term the piant a water structure as to call a house composed mainly
of a brick building. Certain it is that all essential processes of plant growth and development occur in
water. The mineral elements from the soil that are usable by the plant must be dissolved in the soil so-
lution before they can be taken into the root.

They are carried to all parts of the growing plant and are built into essential plant materials while
in a dissolved state. The carbon dioxde (CO,) from the air may enter the leaf as a gas but is dissolved
in water in the leaf before it is combined with a part of the water to form simple sugars——the base
material from which the plant body is mainly built. Actively growing plant parts are generally 75 to 90
percent water. Structural parts of plants, such as woody stems no longer actively growing, may have
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much less water than growing tissues.
The actual amount of water in the plant at any one time, however, is only a very small part of
what passes through it during its development. The processes of photosynthesis, by which carbon

dioxide and water are combined in' the presence of chlorophyll (M%&) and with energy derived

from light to form sugars, require that carbon dioxide from the air enter the plant. This occurs
mainly in the leaves. The leaf surface is not solid but contains great numbers of minute openings,

through which the carbon dioxide enters, The same structure that permits the one gas to enter the

leaf, however, permits another gas water vapor—to be lost from it. Since carbon dioxide is
present in the air only in trace quantities (3 to 4 parts in 10,000 parts of air ) and water vapor is near
saturation in the air spaces within the leaf (at 80°F , saturated air would contain about 186 parts of
water vapor in 10,000 parts of air ), the total amount of water vapor lost is many times the carbon
dioxide intake. Actually, because of wind and other factors, the loss of water in proportion to carbon
dioxide intake may be even greater than the relative concentrations of the two gases. Also, not all of
the carbon dioxide that enters the leaf is synthesized into carbohydrates (BkK4LEH).
41. A growing plant needs water for all of the following EXCEPT
(A) forming sugars (B) sustaining woody stems
(C) keeping green (D) producing carbon dioxide
42. The essential function of photosynthesis in terms of plant needs is
(A) to form sugars (B) to derive energy from light
(C) to preserve water (D) to combine carbon dioxide with water
43. The second paragraph uses facts to develop the essential idea that
(A) a plant efficiently utilizes most of the water it absorbs
(B) carbon dioxide is the essential substance needed for plant development
(C) a plant needs more water than is found in its composition
(D) the stronger the wind, the more the water vapor loss
44. According to the passage, which of the following statements is TRUE?
(A) The mineral elements will not be absorbed by the plant unless they are dissolved in its root.
(B) The woody stems contain more water than the leaves.
(C) Air existing around the leaf is found to be saturated.
(D) Only part of the carbon dioxide in the plant is synthesized.
45. This passage is mainly about
(A) the functions of carbon dioxide and water (B) the role of water in a growing plant
(C) the process of simple sugar formation (D) the synthesis of water with carbon dioxide
41. [#R]D
[E®] %6 1 Bt% 6 A “The carbon dioxide from the air-” WHEKNHEYEEKHFAREHN
TER -k, A) ZHB1BRFBcAMB22RA24; B) ZRH1BEFE84; C) BH
B2BE 2. 34, BEHEAF, HARED).
2. [BR]A
[ER] EEF intermsof BH: “Bh- R XARNEIFELHNEBE, EREL2HF
“The processes of photosynthesis: BB K : XEEANSBRE SR KEELE RN
HERBEN IR, 5 A) THYE. D) ESXAAEANEREX, EXARAAIEANG
£. B), C) AIEWH.
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43. [HER]C
(8] BI\E 28BS 14 “The actual amount of water-HBEEX N . HYERNFEHN
EAANEFEEAERAIREREMERIBPRESERA K WBR/D—T4. #iE C),
M FXBikB T —EALBE AR (carbon dioxide intake) KL (loss of water) XEA
FH.

4. [E=E]D
R WETRHEREM, BB IMFAREN. A) MBN: REERRH#ETIRE, 79
FALBEHEYBRY; B) MEFLHR; C) MBH: HFRENZSLTRARSE, RE
D) HS5@EMF, BE2BBE—AWE, “FIEMEHEAMFH ZERIEEERBK KL
Y.

45. [#XR]B
(8] XRERLSXTENRAE, BF1EREINPRETXENEE: KEEVEKTRE
FREEEEMA. BIEAXEBRHF 148 (E8H) BRBTKHEZEMR. B1BEE1
A, “REBEEERKOHEYTSTROKI LA RMBYEMERFTEKIER". B2EBHE1
) W 43,

. For each numbered blank in the following passage there are four choices labelled (A) (B) (C)
and (D). Choose the best one and put your choice in the ANSWER SHEET. (15 points)
When television first began to expand, very few of the people who had become famous as radio

commentators were able to be equally effective on television. Some of the difficulties they experienced

when they were trying to __46 themselves to the new medium were technical. -When working _ 47

__radio, for example, they had become 48 to seeing on behalf of the listener. This 49 of see-

ing for others means that the commentator has to be very good at talking. 50 all, he has to be

able to 51 a continuous sequence of visual images which 52 meaning to the sounds which the
listener hears. In the 53 of television, however, the commentator sees everything with the view-
er. His role, therefore, is 54 different. He is there to make 55 that the viewer does not miss
some point of interest, to help him 56 on particular things, and to =~ 57 the images on the tele-
vision screen. 58  his radio colleague, he must know the 59 of silence and how to use it at

those moments 60 the pictures speak for themselves.

46. (A) turn (B) adapt (C) alter (D) modify
47. (A) on (B) at (C) with (D) behind
48. (A) experienced (B) determined (C) established (D) accustomed
49. (A) efficiency (B) technology (C) art (D) performance
50. (A) Of (B) For (C) Above (D) In

51. (A) inspire (B) create (C) cause (D) perceive
52. (A) add (B) apply (C) affect (D) reflect

53. (A) occasion (B) event (C) fact (D) case

54. (A) equally (B) completely (C) initially (D) hardly

55. (A) definite (B) possible (C) sure (D) clear

56. (A) focus (B) attend (C) follow (D) insist

57. (A) exhibit (B) demonstrate (C) expose (D) interpret
58. (A) Like (B) Unlike (C) As (D) For

59. (A) purpose (B) goal (C) value (D) intention
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